CANVAS

DUNCAN DESK

PRODUCT NO. 168-0099-8

Z

Z N

e,

ASSEMBLY INSTRUCTIONS

HAVING TROUBLE?
D TOLL-FREE:
1-888-670-6684

IMPORTANT: Please read this manual carefully
before beginning assembly of this product.
Keep this manual for future reference.

AN




We believe in the power of décor and its
ability to make up the fabric of your home.

That’s why CANVAS™ collections draw
inspiration from Canadians and the way
they live.

From on-trend furniture pieces to holiday
décor and all your outdoor living essentials,
CANVAS™ makes it easy to refresh your space
to reflect your unique style and the way you
live every day.

We would love to hear from you and welcome
your thoughtful feedback. Visit our website

at canadiantire.ca to tell us about your
experience, and share your photos with us
using #myCANVASstyle.

Show us how you bring CANVAS™ products
to life. We can’t wait to seel!



TABLE OF CONTENTS

Warning & Safety 4
Parts List 5
Before You Begin Assembly 10
Step-by-step Guide N
Technical Data 41
Troubleshooting 42
Caring for Your Item 42
Warranty 43

WARNING! TO REDUCE THE RISK OF SERIOUS INJURY,

READ THE FOLLOWING SAFETY INSTRUCTIONS BEFORE
ASSEMBLING AND USING THE PRODUCT.

* Please read and understand this entire manual before attempting to assemble,
operate, or install the product.

* Any assembly or maintenance of the product must be carried out by adults only.

* Some parts may contain sharp edges. Wear protective gloves if necessary.

* To prevent damage, place all parts on a level surface during assembly. Add a
layer of protective surface if needed.

* Due to the nature of steel, surface oxidation (rusting) will occur if the protective
coating is scratched. This is a natural process. To minimize this condition, it is
recommended that care be taken when assembling and handling the product in
order to prevent the paint from being scratched.

TOOLS REQUIRED

NOTE: Do not over drill/

Be aware of over-drilling.

No. 2 Cross-head Screwdriver 2 people
Tip Shown Actual Size



WARNING & SAFETY

AWarning & Safety

WARNING - Serious injury can occur if unit tips over. Place heavy items on lower
shelves and as far back as possible.

Maximum weight capacity is 123 Ib 7 oz (56 kg), evenly distributed. Serious injuries
can occur from unit tipping over.

To help prevent tip-over:
* Place heaviest items on the lowest shelves.
* Never allow children to climb or hang on the unit.

* Do not stand on unit.

For your Child's safety:
* Do not allow children to climb on this unit as this may cause injury or death.
* This product is not intended for children to sit on or ride on top of.

» Keep screws, small parts and plastic parts out of children’s reach during and after
assembly.

* This unit contains small parts which could be a choking hazard for small children.

n EHNVHS | DUNCAN DESK



PARTS LIST

ITEM

10

L

12

13

DESCRIPTION

Fixed shelf

Rail

Gable left

Divider

Left bottom

Right bottom

Gable right

Left back panel

Right back panel

Top

Connecting pipe

Right leg

Left leg

THUMBNAIL QUANTITY

/,

DUNCAN DESK | CHNVHS u



PARTS LIST

ITEM DESCRIPTION THUMBNAIL QUANTITY
14 Upper drawer side left X 2
15 Upper drawer side right \ 2

16 Upper right drawer back / 1

17 Upper right drawer bottom rail

—

18 Upper right drawer bottom 0 1
19 Upper right drawer front / 1
20 Upper left drawer back % 1
21 Upper left drawer bottom Q 2
22 Upper left drawer front 1
23 Lower drawer side left @ 1
24 Lower drawer side right @ 1
25 Lower drawer back @ 1
26 Lower drawer front <‘/ 1

Please check all accessories after opening package before assembling.

n EHNVHS | DUNCAN DESK






HARDWARE LIST

ITEM DESCRIPTION THUMBNAIL
A @7.8 x 30 mm Wood dowel

B Cam bolt (Large)

C Cam lock (Large)

D Screws @3.5 x 12 mm

E Left glide

F Right glide

G Screws @5 x 50 mm

H Bracket

I Screws @4 x 14 mm

J Washer

K Drawer connector (small)

L Screws @3.5 x 12 mm %\\3\“
W
M Screws @4.7 x 12.5 mm
4(,@(,"
N Screws @3.8 x 35 mm ‘C@@(.(,
(o] Drawer connector (large) \

n EHNVHS | DUNCAN DESK

QUANTITY

20

14

14

36

12

12

15



HARDWARE LIST

ITEM DESCRIPTION THUMBNAIL QUANTITY
P M4 x 22 mm Bolt W 6
Q Handle % 3
R Plastic file hanger \ 2
S Cam bolt (Small) M 1
T Cam lock (Small) 1
U M6 x 30 mm Bolt W 12
\' Hex wrench N 1
\"}' M6 x 35 mm Bolt 2
A

X Back button 8
Y Screws @3 x 16 mm 8
Z Small washers 4
AA Anti-tip restraints 2
BB Wall plugs 2

Please check all accessories after opening package before assembling.

DUNCAN DESK | CHNVHS n



BEFORE YOU BEGIN ASSEMBLY

MAKE SURE ALL PARTS ARE PRESENT

Compare all pieces to the parts and hardware lists, and
make sure you have all tools required for assembly.

ASSEMBLE IN A CLEARED AREA

Place all parts from the box on the floor in front of you on a clean,
dry, level surface to protect the product as it is being built.

REMOVE PACKAGING MATERIALS

Place packing materials back in the box. Do not dispose of
packaging materials until assembly is complete.

READ EACH STEP CAREFULLY

Make sure you understand each step. Or if you have any questions,
contact CANVAS™ customer service at 1-888-660-6684 (toll-free).

oOO :

m EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 1

X1 X1
r r

Insert 4 wood dowels A into the edge of the fixed shelf 1. Insert 2 wood
dowels A into the edge of the rail 2.

DUNCAN DESK | EHNVHSM n



STEP-BY-STEP GUIDE

Insert 4 wood dowels A and 3 cam bolts B into the gable left 3. Align 2
left glides E with the holes on the gable left 3, then secure with 6
screws D. Make sure the first hole you align is correct.

Note: These are Left Glides.

m EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 3

Insert 3 cam locks € into fixed shelf T and rail 2 and attach them to gable
left 3. Tighten and lock the 3 cam locks C.

ed

Note: Make sure cams are fully tightened and
unit is stable before step 4

DUNCAN DESK | CHNVHS m



STEP-BY-STEP GUIDE

Insert 4 wood dowels A and 3 cam bolts B into the divider 4. Align 2 right

glides F with the holes on the divider 4, then secure with 6 screws D.
Make sure the first hole you align is correct.

Note: These are Right Glides.

m EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 5
X3

-

JIF

Insert 3 cam locks € into the holes on fixed shelf 1 and rail 2. Attach the
divider 4. Tighten and lock the 3 cam locks C.

Note: Make sure cams are fully tightened and
unit is stable before step 6.

DUNCAN DESK | CHNVHS m



STEP-BY-STEP GUIDE

Align the dowels on gable left 3 and gable right 4 with the holes on the
left bottom 5, then attach them with 4 screws G.

m EHNVHSW | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 7

X2 X3 X1

Insert 2 cam bolts B into the divider 4. Align 1 left glide E with the holes

on the divider 4, then secure with 3 screws D. Make sure the first hole you
align is correct.

20

00

DUNCAN DESK | CHNVHS



STEP-BY-STEP GUIDE

Insert 2 wood dowels A into the edge of the right bottom 6. Align 2
brackets H with the holes on the right bottom 6 and attach with 2
screws |.

n EHNVHSW | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 9

X2 X2
‘

Insert 2 cam locks € into the right bottom 6. Attach to the divider 4.
Tighten and lock the 2 cam locks C. Fasten 2 brackets H into the divider 4
with 2 screws I.

Note: Make sure cams are fully tightened and
unit is stable before step 10.

DUNCAN DESK | CHNVHS m



STEP-BY-STEP GUIDE

STEP 10

Insert 4 wood dowels A into the large holes on the edge of gable right 7.
Align 1right drawer glide F with the holes on the gable right 7, then secure
with 3 screws D. Make sure the first hole you align is correct.

m EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP N

@
%.
e

Align the dowels on the gable right 7 with the holes on the right bottom 6.
Attach them with 2 screws G.

DUNCAN DESK | EHNVHSM m



STEP-BY-STEP GUIDE

STEP 12

X1 X1 X1 X1 X2
9
P

Attach right leg 12 and left leg 13 with connecting pipe 11 using 2
bolts W. Tighten with hex wrench V.

NOTE:
Do not tighten screws all ) x 3 J

the way until you have

assembled the desk.
Once assembly is complete,
tighten each screw.

E EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 13

X12 X12 X1
$»
N

Attach right leg 12 and left leg 13 with the base of the desk case using 12
bolts U and 12 washers J. Tighten with hex wrench V.

NOTE: D

Do not tighten screws all

C
X
<

the way until you have

assembled the desk.
Once assembly is complete,

tighten each screw.

@,
@ G
@ 4’@%

\ A

% T
S ~
tif(f@,(‘@ D

@,
W
%

0

So < ) <%
/ h / /
/ / / /
/ / / /
/ / /
/ / / /
ya
fo /.
A

DUNCAN DESK | CHNVHS E



STEP-BY-STEP GUIDE

STEP 14

ol

Insert left back panel 8 and right back panel 9 into the grooves in the
back of the desk case.

m EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 15

DUNCAN DESK | [:HNVHS E



STEP-BY-STEP GUIDE

STEP 16
X6

I

Insert 6 cam locks € along the top of the assembled case. Align the top 10
with the holes on gable left 3 and gable right 7 and insert. Tighten and lock

the 6 cam locks C.

\ Note: Make sure cams are fully tightened and
\-"‘. unit is stable before step 17.

H EHNVHS | DUNCAN DESK




STEP-BY-STEP GUIDE

STEP 17
X8 X8

Insert 8 back buttons X into the left back panel 8 and right back panel 9
with 8 screws Y.

Note: Ensure screws are inserted
\ at the correct angle.

DUNCAN DESK | CHNVHS



STEP-BY-STEP GUIDE

STEP 18

NN

Align 1 left glide E with the holes on the upper drawer side left 14. Secure
with 3 screws D. Align 1 right glide F with the holes on the upper drawer
side right 15, then secure with 3 screws D.

X2

Repeat the step twice
on two pieces.

m EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 19

X1 X1 X2 X4 X5
| T -

Attach upper drawer side left 14 and upper drawer side right 15 with
upper right drawer back 16 and upper right drawer bottom rail 17 with 5
screws N. Insert small drawer connector K into the upper drawer side
left 14 and upper drawer side right 15 with 4 screws L.

DUNCAN DESK | CHNVHS m



STEP-BY-STEP GUIDE

STEP 20

A

Insert upper right drawer bottom 18 into the upper right drawer frame.
Insert 1 cam bolt S into the upper right drawer front 19.

m EHNVHSW | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 21

X2 X2 X1 X1
< &

Insert handle @ into the upper right drawer front 19 with 2 bolts P. Use 1
cam lock T to attach upper right drawer front 19 with upper right drawer
bottom rail 17. Secure small drawer connector K to the upper right drawer
front 19 with 2 screws M.

Note: Make sure cams are fully tightened and
unit is stable before step 22.

DUNCAN DESK | CHNVHS m



STEP-BY-STEP GUIDE

STEP 22

X1 X1 X1 X4 X4
\Gw @
N SN | S

Attach upper drawer side left 14 and upper drawer side right 15 with
upper left drawer back 20 with 4 screws N. Insert small drawer

connector K into the upper drawer side left 14 and upper drawer side
right 15 with 2 screws L.

m EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 23
X1

<

Insert small drawer bottom 21 into the upper left drawer frame.

DUNCAN DESK | EHNVHSM m



STEP-BY-STEP GUIDE

STEP 24

Insert handle @ into the upper left drawer front 22 with 2 bolts P. Secure
small drawer connector K to the upper left drawer front 22 with 2 screws M.

m EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 25

S

Align 1 left glide E with the holes on the lower drawer side left 23, then
secure with 3 screws D. Align 1right glide F with the holes on the lower
drawer side right 24. Secure with 3 screws D.

DUNCAN DESK | CHNVHS E



STEP-BY-STEP GUIDE

STEP 26

X X4 X4 X2
) V'('('.,' N
Q

Attach lower drawer side left 23 and lower drawer side right 24 with lower
drawer back 25 with 4 screws N. Insert large drawer connector O into
lower drawer side left 23 and lower drawer side right 24 with 4 screws L.

m EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 27
X1

<

Insert upper left drawer bottom 21 into the lower left drawer frame.

DUNCAN DESK | EHNVHSM



STEP-BY-STEP GUIDE

STEP 28

2

Insert handle Q into lower drawer front 26 with 2 bolts P. Secure large
drawer connector O to lower drawer front 26 with 4 screws M. Attach
plastic file hanger R to lower drawer side left 23 and lower drawer side

right 24.

()

m EHNVHS | DUNCAN DESK



STEP-BY-STEP GUIDE

STEP 29

P

Insert the 3 drawers into the desk. Adjust the drawer connectors if
necessary to adjust the fit.

DDDDDDDDDD | CANVAS E3



STEP-BY-STEP GUIDE

STEP 30

% f

Fasten two anti-tip restraints AA to the back of top 10, using two screws |
and two flat washers Z.

Insert two wall plugs BB into your wall.

Fasten the two anti-tip restraints AA to the wall using two small washers
Z and two screws N.

=1z X2

m EHNVHS | DUNCAN DESK



TECHNICAL DATA

18”
(45.7 cm)

47 1/4"
(120 cm)

.

i
e Sem —
> \

SPECIFICATIONS
ASSEMBLED DIMENSIONS (W x D x H) 47 1/4 x 18 x 30"
120 x 45.7 x 76.2 cm

ASSEMBLED WEIGHT 631b 2oz
28.6 kg

DESK SURFACE MAXIMUM WEIGHT CAPACITY 99 1b 3 oz
45 kg

UPPER LEFT DRAWER MAXIMUM WEIGHT CAPACITY 31lb5o0z
1.5 kg

UPPER RIGHT DRAWER MAXIMUM WEIGHT CAPACITY 6 1b 10 oz
3 kg

BOTTOM DRAWER MAXIMUM WEIGHT CAPACITY 14 1b 5 oz
6.5 kg

DUNCAN DESK | CHNVHS m



ASSEMBLY TROUBLESHOOTING

HAVING TROUBLE?

LET US HELP YOU!
@ TOLL-FREE:

1-888-670-6684

BEFORE RETURNING If you have questions regarding your product or require CALL US,
YOUR PRODUCT warranty assistance, please call our customer service helpline. WE CAN HELP

CARING FOR YOUR ITEM

Always keep children under close supervision while they are using or around
this product. Never leave children unattended.

Do not light any fires below or near the product.

Check all nuts and bolts periodically for tightness. When required, tighten
them again.

b This product is intended for domestic indoor use only.

Do not shake, lean or stand on it.

v

CLEANING: For best results, clean the product with a damp cloth and dry thoroughly. This
will help prevent mildew by removing dirt particles that may accumulate.

E EHNVHS | DUNCAN DESK



WARRANTY INFORMATION

©

1-YEAR LIMITED WARRANTY*

This CANVAS™ product carries a one (1) year warranty against defects in workmanship and
materials. Trileaf Distribution agrees to replace the defective product free of charge within the
stated warranty period, when returned by the original purchaser with proof of purchase. This
product is not guaranteed against wear or breakage due to misuse and/or abuse.

PRODUCT NO. 168-0099-8

Made in China
Imported by Trileaf Distribution Trifeuil Toronto, Canada M4S 2B8

DUNCAN DESK | EHNVHSw E






CANVAS

BUREAU DUNCAN

N° D’ARTICLE : 168-0099-8

Z

Z N

e,

INSTRUCTIONS D’ASSEMBLAGE

D VOUS RENCONTREZ DES PROBLEMES?

AAA

NUMERO SANS FRAIS :

1 888 670-6684

IMPORTANT: Veuillez lire attentivement ce guide avant
de procéder a I'assemblage de ce produit.
Conservez ce guide aux fins de consultation ultérieure.




INSPIRE PAR LE CANADA

Nous croyons au pouvoir de la décoration pour
donner son ame a votre maison.

C’est pour cela que les collections
CANVASMcs’inspirent des Canadiens et de

leur style de vie.

Qu’il s’agisse de meubles tendance, de décorations
pour les fétes ou pour le plein air, CANVASM vous
permet de rafraichir facilement votre espace pour
qu’il reflete votre style unique et votre mode
de vie.

Nous serions ravis de recevoir vos commentaires
judicieux. Visitez notre site Web canadiantire.ca
pour nous parler de votre expérience et partagez vos
photos avec nous en utilisant #mycanvasstyle.

Montrez-nous comment vous donnez vie aux
produits CANVASMC, Nous avons hate de les voir!



TABLE DES MATIERES

Avertissement et sécurité

Liste des pieces

Avant de commencer 'assemblage
Guide étape par étape

Données techniques

Dépannage

Prendre soin de votre article
Garantie

AVERTISSEMENT! VEUILLEZ LIRE LES CONSIGNES DE SECURITE

SUIVANTES AVANT D’ASSEMBLER ET D'UTILISER L’ARTICLE
AFIN DE REDUIRE LE RISQUE DE BLESSURES GRAVES.

* Veuillez lire et comprendre ce guide en entier avant de tenter d’assembler,
d’utiliser ou d’installer le produit.

* L’assemblage et I'entretien de I'article ne doivent étre effectués que par
des adultes.

» Certaines pieces peuvent contenir des bords tranchants. Portez des gants de
protection si nécessaire.

* Pour éviter tout dommage, placez toutes les pieces sur une surface plane
pendant 'assemblage. Ajoutez une couche de protection de surface, le cas
échéant.

* En raison de la nature de 'acier, un revétement de protection rayé pourrait
entrainer 'oxydation de la surface (rouille). Ceci est un processus naturel. Afin
de minimiser cette condition, il est recommandé d’assembler et de manipuler
I'article soigneusement afin d’éviter d’égratigner la peinture.

10
11
41
42
42
43

OUTILS REQUIS

REMARQUE : N'utilisez pas d’outil

électrigue pour visser. Faites attention
de ne pas visser excessivement.

Tournevis a téte cruciforme n° 2 personnes

2 Taille réelle de la téte



AVERTISSEMENT ET SECURITE

A Avertissement et sécurité

AVERTISSEMENT - Des blessures graves peuvent survenir si I’'appareil bascule.
Placez les articles lourds sur les tablettes inférieures et aussi loin au fond que
possible.

Réparti de facon homogeéne, le poids maximal est de 123,2 b (56 kg). Des blessures
graves peuvent survenir en cas de basculement du meuble.

Pour éviter la chute du meuble:
* Placez les articles les plus lourds dans les tiroirs les plus bas.
* Ne laissez jamais les enfants grimper sur le bureau, ou les laisser s’y suspendre.

* Ne vous mettez pas debout sur le bureau.

Pour la sécurité de votre enfant:

* Ne laissez pas les enfants grimper sur ce meuble car cela pourrait entrainer des
blessures, voire la mort.

* Ce produit n’est pas concu pour permettre aux enfants de s’asseoir ou de monter
dessus.

» Gardez les vis, les petites piéces et les piéces en plastique hors de portée des
enfants pendant et apres I'assemblage.

* Ce meuble contient de petites pieces qui pourraient présenter un risque
d’étouffement pour les jeunes enfants.

n EHNVHS | BUREAU DUNCAN



LISTE DES PIECES

ARTICLE DESCRIPTION ILLUSTRATION QUANTITE

1 Tablette fixe ~\ 1

2 Rail 1

3 Panneau gauche // T
N

\

4 Diviseur . 1
\\\/
5 Panneau inférieur gauche @ 1
6 Panneau inférieur droit @ 1
7 Panneau droit <\\/ 1
8 Panneau arriére gauche @ 1
9 Panneau arriere droit / 1
10 Dessus 1
n Traverse / 1
12 Patte droite @ 1
13 Patte gauche \ 2

BUREAU DUNCAN | CHNVHS H



LISTE DES PIECES

DESCRIPTION ILLUSTRATION

ARTICLE

14

15

16

17

18

19

20

21

22

23

24

25

26

Coté gauche du tiroir supérieur R

Coté droit du tiroir supérieur

Derriere du tiroir supérieur
droit

Rail inférieur du tiroir superieur

droit

Fond du tiroir supérieur droit

Devanture du tiroir supérieur
droit

Derriere du tiroir supérieur
gauche

Fond du tiroir supérieur
gauche

Devanture du tiroir supérieur
gauche

Coté gauche du tiroir inférieur
Coté droit du tiroir inférieur

Derriére du tiroir inférieur

Devanture du tiroir inférieur

860ONOR\N

QUANTITE

Veuillez vérifier tous les accessoires apres avoir ouvert le paguet avant
de procéder a 'assemblage.

n EHNVHS | BUREAU DUNCAN






LISTE DE LA QUINCAILLERIE

ARTICLE DESCRIPTION ILLUSTRATION QUANTITE
A Goujon de bois @7,8 x 30 mm 20
B Goujon a came (grand) 14
(o Came (grande) 14
D Vis @3,5 x 12 mm 36
E Glissiere gauche 3
F Glissiére droite 3
G Vis @5 x 50 mm 6
H Support 2

| Vis @4 x 14 mm 6
J Rondelle 12
K Connecteur de tiroir (petit) 4
L Vis @3,5 x 12 mm 3\‘3\‘ 12
M Vis ©4,7 x 12,5 mm W“ 8
N Vis @3,8 x 35 mm V(""’"@@c.(.& 15
(o] Connecteur de tiroir (grand) \ 2

n EHNVHS | BUREAU DUNCAN



LISTE DE LA QUINCAILLERIE

ARTICLE DESCRIPTION ILLUSTRATION QUANTITE
P Boulon M4 x 22 mm W 6
Q Poignée % 3
R Support de dossier \ 2
S Goujon a came (petit) M 1
T Came (petite) 1
U Boulon M6 x 30 mm W 12
\" Clé hexagonale N 1
W Boulon M6 x 35 mm 2
<

X Fixation arriere 8
Y Vis @3 x 16 mm 8
Z Petite rondelle 4
AA Bande anti-basculement 2
BB Cheville d’ancrage 2

Veuillez vérifier tous les accessoires aprés avoir ouvert le paguet avant

de procéder a 'assemblage.

BUREAU DUNCAN | CHNVHS n



AVANT DE COMMENCER L’ASSEMBLAGE

ASSUREZ-VOUS QUE TOUTES LES PIECES SONT COMPRISES

Comparez toutes les pieces aux listes de pieces et de quincaillerie et assurez-vous
gue vous disposez de tous les outils nécessaires pour I'assemblage.

orof W 'I'
ASSEMBLEZ L’ARTICLE DANS UNE ZONE DEGAGEE

Placez toutes les pieces de la boite sur le sol devant vous sur une surface propre,
séche et plane afin de protéger I'article pendant son assemblage.

RETIREZ LES MATERIAUX D’EMBALLAGE

Remettez les matériaux d’emballage dans la boite. Ne les jetez pas avant d’avoir
terminé 'assemblage.

LISEZ ATTENTIVEMENT CHAQUE ETAPE

Assurez-vous de bien comprendre chaque étape. Ou si vous avez des questions,
contactez le service a la clientele CANVASMC au 1 888 660-6684 (sans frais).

oOO :

m EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 1

X1 X1
r r

Insérez 4 goujons de bois A dans le bord de la tablette fixe 1. Insérez 2 goujons
de bois A dans le bord de la tablette fixe 2.

BUREAU DUNCAN | EHNVHSM n



GUIDE ETAPE PAR ETAPE

ETAPE 2

Insérez 4 goujons de bois A et 3 goujons & came B dans le panneau gauche 3.
Alignez 2 glissiéres gauches E avec les trous sur le panneau gauche 3, puis

fixez-les au moyen de 6 vis D. Assurez-vous que le premier trou que vous
alignez est le bon trou.

REMARQUE : Ce sont les glissiéres gauches.

E EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 3
X3

s

Insérez 3 cames C dans la tablette fixe 1 et le rail 2 et fixez-les au panneau

gauche 3. Serrez et verrouillez les 3 cames C.

0
P
0
¢ A
N
0\\\

Remarque : Assurez-vous gue les cames sont
complétement serrées et que le meuble est stable
avant de procéder a I'étape 4.

BUREAU DUNCAN | CHNVHS m



GUIDE ETAPE PAR ETAPE

ETAPE 4

Insérez 4 goujons de bois A et 3 goujons & came B dans le diviseur 4. Alignez
2 glissiéres droites F avec les trous du diviseur 4, puis fixez-les au moyen de 6
vis D. Assurez-vous que le premier trou que vous alignez est le bon trou.

Remarque : Ce sont les glissieres
droites.

m EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 5

JIF

Insérez 3 cames C dans les trous de la tablette fixe 1 et du rail 2. Fixez le
diviseur 4. Serrez et verrouillez les 3 cames C.

complétement serrées et que le meuble est stable
avant de procéder a I’étape 6.

BUREAU DUNCAN | CHNVHS m



GUIDE ETAPE PAR ETAPE

ETAPE6

X1 X4

Alignez les goujons sur le panneau gauche 3 et le panneau droit 4 avec les
trous sur le fond gauche 5, puis fixez les panneaux au moyen de 4 vis G.

m EHNVHSW | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 7

X2 X3 X1

Insérez 2 goujons a came B dans le diviseur 4. Alignez 1 glissiére gauche E

avec les trous sur le diviseur 4, puis fixez-la au moyen de 3 vis D. Assurez-vous
gue le premier trou que vous alignez est le bon trou.

20

00

BUREAU DUNCAN | CHNVHS



GUIDE ETAPE PAR ETAPE

ETAPE 8

Insérez 2 goujons de bois A dans le bord du fond droit 6. Alignez les deux
supports H avec les trous sur le fond droit 6, puis fixez-les au moyen de 2
vis |.

n EHNVHSW | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 9

X2 X2
e

Insérez 2 cames C dans le fond droit 6. Fixez ce dernier au diviseur 4.
Serrez et verrouillez les 2 cames C. Fixez 2 supports H dans le diviseur 4 au

moyen de 2 vis |.

Remarque : Assurez-vous gue les cames sont
complétement serrées et que le meuble est stable
avant de procéder a I'étape 10.

BUREAU DUNCAN | CHNVHS m



GUIDE ETAPE PAR ETAPE

ETAPE 10

Insérez 4 goujons de bois A dans les grands trous sur le bord du panneau
droit 7. Alignez 1 glissiére gauche F avec les trous sur le panneau droit 7, puis

fixez-la au moyen de 3 vis D. Assurez-vous que le premier trou que vous
alignez est le bon trou.

m EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 11

@
%.
(g

Alignez les goujons du panneau droit 7 avec les trous sur le fond droit 6.
Fixez le tout avec 2 vis G.

D

v
g

BUREAU DUNCAN | EHNVHSM m



GUIDE ETAPE PAR ETAPE

ETAPE 12

X1 X1 X1 X1 X2
W
SV

~ @ T | TN

Fixez la patte droite 12 et la patte gauche 13 avec la traverse 11 au moyen de
2 boulons W. Serrez le tout a I'aide de la clé hexagonale V.

REMARQUE: D

Ne serrez pas les vis a fond ) x d J

avant d’avoir assemblé
entiérement le bureau.

Une fois I'assemblage
terminé, serrez chaque vis.

E EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 13

X12 X12 X1
$
N

Fixez la patte droite 12 et la patte gauche 13 avec la base du boitier de bureau
au moyen de 12 boulons U et 12 rondelles J. Serrez le tout a 'aide de la clé
hexagonale V.

REMARQUE: )

Ne serrez pas les vis a fond ) x > J

avant d’avoir assemblé

entiérement le bureau.
Une fois I'assemblage

terminé, serrez chaque vis.

@ @ﬂ%,ﬁﬁ 7
(, G
o} %ﬁ(f[{ § L AN
«(4@

e < ) <%
/ h / /
/ / / /
/ / / /
/ / /
/ / / /
ya
fo /.

BUREAU DUNCAN | CHNVHS E



GUIDE ETAPE PAR ETAPE

ETAPE 14

ol

Insérez le panneau arriére gauche 8 et le panneau arriére droit 9 dans les
rainures a l'arriére du boitier de bureau.

m EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 15

BUREAU DUNCAN | EHNVHSW E



GUIDE ETAPE PAR ETAPE

ETAPE 16
X6

I

Insérez 6 cames C le long du haut du boitier assemblé. Alignez le dessus 10
avec les trous sur le panneau gauche 3 et le panneau droit 7, puis insérez les

goujons & came du dessus. Serrez et verrouillez les 6 cames C.

Remarque : Assurez-vous que les cames sont

\ complétement serrées et que le meuble est stable
R avant de procéder a I'étape 17.

H EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 17

X8

X8

Insérez 8 fixations arriere X dans le panneau arriére gauche 8 et le panneau
arriére droit 9 au moyen de 8 vis Y.

ST

Remarque : Assurez-vous que les vis
sont insérées au bon angle.

BUREAU DUNCAN | CHNVHS



GUIDE ETAPE PAR ETAPE

ETAPE 18

NNE

Alignez 1 glissiére gauche E avec les trous sur le co6té gauche 14 du tiroir
supérieur. Fixez la glissiére au moyen de 3 vis D. Alignez 1 glissiére droite F
avec les trous sur le c6té droit 15 du tiroir supérieur, puis fixez-la au moyen
de 3 vis D.

X2

Répétez I'étape deux
fois sur deux pieces.

m EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 19

X1 X1 X2 X4 X5
/ G
. | T -

Fixez le coté gauche 14, le coté droit 15 et le rail inférieur 17 du tiroir supérieur
au derriére 16 du tiroir supérieur au moyen de 5 vis N. Fixez les petits
connecteurs K dans le c6té gauche 14 et le coté droit 15 du tiroir supérieur au
moyen de 4 vis L.

BUREAU DUNCAN | CHNVHS H



GUIDE ETAPE PAR ETAPE

ETAPE 20

A

Insérez le fond 18 du tiroir supérieur droit dans le cadre du tiroir supérieur droit.
Insérez 1 goujon & came S dans le devanture 19 du tiroir supérieur droit.

m EHNVHSW | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 21

X2 X2 X1 X1
r < &

Fixez la poignée Q & la devanture 19 du tiroir supérieur droit au moyen de 2
boulons P. Utilisez 1 came T pour fixer la devanture 19 du tiroir supérieur droit
avec le rail inférieur 17 du tiroir supérieur droit. Fixez les petits connecteurs
de tiroir K & la devanture 19 du tiroir supérieur droit au moyen de 2 vis M.

Remarque : Assurez-vous que les cames sont
complétement serrées et que le meuble est stable
avant de procéder a I'étape 22.

BUREAU DUNCAN | CHNVHS m



GUIDE ETAPE PAR ETAPE

ETAPE 22

G -

Fixez le coté gauche 14 et le coté droit 15 du tiroir supérieur au derriere 20
du tiroir supérieur au moyen de 4 vis N. Fixez les petits connecteurs K dans
le coté gauche 14 et le coté droit 15 du tiroir supérieur au moyen de 2 vis L.

m EHNVHSW | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 23
X1

<

Insérez le fond 21 de tiroir dans le cadre du tiroir supérieur gauche.

BUREAU DUNCAN | EHNVHSM m



GUIDE ETAPE PAR ETAPE

ETAPE 24

Fixez la poignée @Q & la devanture 22 du tiroir supérieur gauche au moyen
de 2 boulons P. Fixez les petits connecteurs de tiroir K & la devanture 22 du
tiroir supérieur gauche au moyen de 2 vis M.

m EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 25

SRR

Aligner 1 glissiére gauche E avec les trous sur le coté gauche 23 du tiroir
inférieur, puis fixez-la au moyen de 3 vis D. Alignez 1 glissiére droite F
avec les trous sur le coté droit 24 du tiroir inférieur. Fixez-la au moyen
de 3 vis D.

BUREAU DUNCAN | CHNVHS E



GUIDE ETAPE PAR ETAPE

ETAPE 26

X1 X4 X4 X2
) V'('('.,' N
Q

Fixez le coté gauche 23 et le coté droit 24 du tiroir inférieur avec le derriére
25 du tiroir inférieur au moyen de 4 vis N. Fixez les grands connecteurs O
dans le coté gauche 23 et le coté droit 24 du tiroir inférieur au moyen de 4

vis L.

m EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 27
X1

<

Insérez le fond 21 du tiroir inférieur gauche dans le cadre du tiroir inférieur.

BUREAU DUNCAN | EHNVHSM



GUIDE ETAPE PAR ETAPE

ETAPE 28

i

Fixez la poignée Q & la devanture 26 du tiroir inférieur au moyen de 2
boulons P. Fixez le grand connecteur de tiroir O a la devanture 26 du tiroir
inférieur au moyen de 4 vis M. Fixez les supports de dossier en plastique R
au coHté gauche 23 et au coté droit 24 du tiroir inférieur.

()

m EHNVHS | BUREAU DUNCAN



GUIDE ETAPE PAR ETAPE

ETAPE 29

P

Insérez les 3 tiroirs dans le bureau. Ajustez les connecteurs de tiroir si
nécessaire.

UUUUUUUUUUUU | CANVAS” E3



GUIDE ETAPE PAR ETAPE

ETAPE 30

% f

Fixez deux bandes anti-basculement AA & I'arriere du dessus 10 au moyen de
deux vis | et deux rondelles plates Z.

Insérez deux chevilles BB dans votre mur.

Fixez les deux bandes anti-basculement AA au mur au moyen de deux petites
rondelles Z et deux vis N.

1= X2

m EHNVHS | BUREAU DUNCAN



TECHNICAL DATA

18 po
45,7 cm)
47 1/4 po
(120 cm)

.

Za
o _—
- \

FICHE TECHNIQUE
DIMENSION DE L’ARTICLE (larg. x P. x H.) 47 1/4 x 18 x 30 po

120 x 45,7 x 76,2 cm

POIDS DE L’ARTICLE 631b 2oz
28,6 kg

CAPACITE DE POIDS MAXIMUM DE LA SURFACE DU BUREAU 99 1b 3 oz
45 kg

CAPACITE DE POIDS MAXIMUM DU TIROIR SUPERIEUR GAUCHE 3 Ib 5 oz
1,5 kg

CAPACITE DE POIDS MAXIMUM DU TIROIR SUPERIEUR DROIT 6 1b 10 oz
3 kg

CAPACITE DE POIDS MAXIMUM DU TIROIR INFERIEUR 14 1b 5 oz
6,5 kg

BUREAU DUNCAN | CHNVHS m



RESOUDRE LES PROBLEMES DE L’ASSEMBLAGE

VOUS RENCONTREZ DES PROBLEMES?

LAISSEZ-NOUS VOUS AIDER!
NUMERO SANS FRAIS:

1888 670-6684

AVANT DE RETOURNER Si vous avez des questions concernant votre produit ou avez APPELEZ-NOUS,
VOTRE ARTICLE besoin d’une assistance au titre de la garantie, veuillez appeler NOUS POUVONS
notre service d’assistance & la clientéle. VOUS AIDER

PRENDRE SOIN DE VOTRE ARTICLE

Surveillez toujours les enfants étroitement lorsqu’ils utilisent cet article ou gu’ils
se trouvent a proximité de celui-ci. Ne laissez jamais les enfants sans surveillance.

Ce produit est concu uniguement pour une utilisation résidentielle intérieure.

N’allumez pas un feu sous ou prés de 'article.

Assurez-vous périodiqguement que tous les écrous et boulons sont bien serrés. Au
besoin, resserrez-les.

VVVvVVVvY

Ne secouez pas, ne vous penchez pas et ne grimpez pas sur cet article.

NETTOYAGE : Pour obtenir de meilleurs résultats, nettoyez I'article avec un chiffon humide
et séchez-le soigneusement. Cela aidera a prévenir la moisissure en éliminant
les particules de saleté qui peuvent s’accumuler.

m EHNVHS | BUREAU DUNCAN



GARANTIE

® GARANTIE LIMITEE DE 1 AN*

N Cet article CANVAS™® comprend une garantie d’un (1) an contre les défauts de fabrication et
de matériaux. Distribution Trifeuil consent a remplacer I'article défectueux lorsqu’il est

retourné par I'acheteur original, accompagné de la preuve d’achat, au cours de la période de
garantie convenue. Exclusion : usure ou bris causés par un usage abusif ou inapproprié.

N° D’ARTICLE : 168-0099-8

Fabrigué en Chine

Importé par Trileaf Distribution Trifeuil Toronto, Canada M4S 2B8

BUREAU DUNCAN | EHNVHSw E



INSPIRE PAR LE CANADA




